
BOD Č. Y X Z POPIS
1 769918,331 1053711,221 ZÚ
2 769798,657 1053641,882 ZO2
3 769792,679 1053638,418 VB2
4 769785,788 1053637,918 KO2
5 769780,673 1053637,547 KÚ = STŘED OK = ZÚ
6 769780,223 1053628,142 ZO1
7 769780,059 1053624,701 VB1
8 769780,678 1053621,313 KO2
9 769793,351 1053551,998 ZO2
10 769796,441 1053535,096 VB2
11 769800,684 1053518,447 KO2
12 769803,083 1053509,032 KÚ
13 769777,613 1053644,713 ZO1
14 769776,242 1053647,923 VB1
15 769775,645 1053651,362 KO1
16 769774,611 1053657,320 KÚ
17 769797,398 1053532,147 ZÚ NA NÁHONU
18 769781,057 1053528,469 KÚ NA NÁHONU
19 769774.770 1053642.946 ZÚ OK
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